
12.1&12.2
Adjacent, vertical, 

complementary, and 
supplementary 

angles



Naming an AngleNaming an Angle

A

B C
1



Measurement of AnglesMeasurement of Angles

A

B C

Angles are measured on
how open they are.

They’re measured by 

____________.



Acute Angle
___________________

___________________

A

B C

Kinds of AnglesKinds of Angles



Right Angle
___________________

___________________

A

B C

Kinds of AnglesKinds of Angles



Obtuse Angle
___________________

___________________
A

B C

Kinds of AnglesKinds of Angles



WHAT ARE ADJACENT ANGLES?
Adjacent Angles Not Adjacent Angles



ADJACENT ANGLES

A

B C

Adjacent angles are angles _____ 
to each other and share a 
______ ______.

D



1) Define complementary angles



2) Define supplementary angles



Find the missing angle.



3) Define vertical angles

Two angles are vertical angles when they are

__________ formed by ____________________.

Vertical angles are ___________________, meaning

they have the same measure.



Adjacent Angles

a) _______________ & _______________

b) _______________ & _______________

Vertical Angles

a) _______________ & _______________

b) _______________ & _______________

J

M
L

R

K

Name two pairs of adjacent angles and two pairs of vertical angles in the figure. 

Do you understand?



Find the missing angles.



Tell whether the angles are adjacent or vertical. Then find the value of x.
Using Adjacent and Vertical Angles

a) b)



Tell whether the angles are adjacent or vertical. Then find the value of x.
Using Adjacent and Vertical Angles

c) b)







Use the given information to solve each problem. 
Do you understand?

m1 50 and m2  3x
Angle 1 and 2 are supplementary.  

a) Write an equation and find the value of x.  

b) Use the value of x to find the measure of angle 2.



Use the given information to solve each problem. 
Do you understand?

Angle 1 and 2 are complementary.  

a) Write an equation and find the value of x.

b) Use the value of x to find the measure of angle 2.  

m1 x and m2  2x


